MARY’S BOY CHILD- Boney M (Dec 2006)
Choreo: Darlene Cummings, Surrey, B.C., V4A 1X9, 604-542-9907, fancydouble@telus.net
Moderate tempo Christmas pop song, intermediate level, left foot lead, 32 beat wait

Intro: 4 Double Crab Walk (¥4 left each)

A: 2 Countrified (2 right each), Double Crab Walk

B: [Brushover Deluxe, M J Run] X 2, [Vine Rock Slur, Brushover] X 2
A: 2 Countrified (2 right each), Double Crab Walk

B*:  [Brushover Deluxe, M JRun] X 2

C: [Time Step, Stomp Double, Birmingham] X 2

A*: 4 Countrified (% right each), Double Crab Walk

B: [Brushover Deluxe, M J Run] X 2, [Vine Rock Slur, Brushover] X 2
C: [Time Step, Stomp Double, Birmingham] X 2

End: [Mama Mia, Samantha (% right), Country Brush (fwd), 8 Count Roundout] X 3
Mama Mia, Samantha (% right), Country Brush (fwd)

Countrified  DS- T(f) HC- T(s) HC- T(f) HC- T(s) HC- T(b) HC- DS-R S

L R L R L R L R L R L R LR

DS- H HC- H HC- DS- H HC- H HC- DS- Br HC (turn on H HC- H HC)

L RL RL R LR LR L RL
Brushover Deluxe  DS- Br(xf) HC- BaHC- R S- R S- Br(f) HC- DS-R S 1% 4 counts of this

L R L RR LRLRL R L RL step = Brushover

M J Run DS- DS(b)- R S(0s)- pa S(tog)- R(s) S(tog)- R(s) S(tog)- DS-R S

R L RL R L R L R L RL
Vine Rock Slur DS- DS(b)- R H*(0s)- Slur S(tog) ~ These 1° 5 steps are all also done
L R LR R R on opposite footwork.
Time Step Li Sto(xf)- R S- Sto(xf) R- S Sto Stomp Double Li Sto- DS-DS-R S
LL RL R LRL RR L R LR

Birmingham Li Sto- D R(xf)- S D- R S- Ba/Sli- DS- DS-R S
LL RR LRRLRR L R LR
Mama Mia  [Li S(xf)- Li T(s)- Li S(xf)- Li T(s)] X 2 Double Crab DS-DS-H*H*-R S
LL R R RR L L Walk L R L R LR
LL R R R R LL
Samantha DS- DS(xf)- Dr S- Dr S-R S-DS-DS-R S
L R RLLRLRL R LR
Country Brush DS- Br HC- T(f) S(fwd)- Br HC- T(f) S(fwd)- Br HC- T(f) S(fwd)- Br HC
L RL R R LR L L RL R R L R
8 Count Roundout  DS- Ba(xf) HC- Ba(b) HC- Ba HC- Ba(xf) HC- Ba(b) HC- Ba HC- Ba HC
L R R L L RR L L R R LL RR
T=toetouch H=heel touch H*=heel withweight HC=heel click tog=together Li= lift
Ba=ball xf=acrossin front fwd=forward Br=brush Sto=stomp Dr=drag b= behind



